Honors Chemistry: Solutions 2 Problem Set- Properties of Solutions
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6. What is the solubility of potassium Temperatuge In Degress Celsius

nitrate at 90° C?

7. At what temperature does potassium iodide have a solubility of 150 g/ 100 cm3 water?

8. You have a solution of sodium nitrate containing 140 g at 65° C. Is the solution saturated, unsaturated, or
supersaturated?

9. You have a solution of potassium chlorate containing 4 g at 65° C. How many additional grams of solute
must be added to it, to make the solution saturated?



